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\ Whyis watercalledak

Ad - Emﬂnswar the questions (Q. Nos, 5 to 10)

nutrient ? T :
i E?al hoosing the correct alternatives . (B) Lata sang in the concert last

! : fully
Read the following passad® e different products of 5. Th p
: 5. e word which means th i
; . Nos. 10 4 A) It dissolves di : r . e same evening sweetly,
and answer the questions (Q oS- ( ‘excellent’is : g
choosing the mmamw : (A) Terrible (C) Lata sang lastevening sweetly in
Man does not live by food alone. Whereas ' (B) 'Wo rlhléss the concert.
without food, we \ . .
~ we can do for weeks without food 5 "G Irsoniteant (D) Latasang in the concert sweetly
cannot live without water : a__ B ia s o last evenin
. ! (.W.Mrm_ew good 8

couple of days. Water is \
5 The word opposite in meaning tq 10. Identify the correct sentence :

health and fitness.
i ’natural'is (A) Please advise me whatshall | do
proteins, v (A Innocent ji 1= rcney,
ki ;_,v,;_,;,';‘-,f&);:ﬁﬁéjal_ : (B) Please advise me how shall | pay

© Arbﬁcﬁﬂ back your money.

(C) Pleasetell me when we shall meet
on ’between tl'_w again.

environment is :
(D) Please inform me where can [ get

the book.

ik _Whicﬁ of the following is used in the
| common TV remote control ?
. (A) Ultrasonicwave
(B) LASER wave
(C) Radiowave
(D) Infrared wave
12 Yte\h)'t'l_it.:t'i of the following is the largest
organ in the human body 7
(A) Lungs
(8) Skin
i : (C) Brain
sang sweetly in the concart (D) Large intestine

|ast evening.
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einaP B) Aricle 21 21. Howm uta
13. Mostsngnrﬁcﬂﬂlﬂ\"ms'}"- (B) Arti . eTanInutesbefors‘lznooMS A
tem arecaused b; (C) Atticle 21A itwhen itis 27 minutes past 10 A - said, “This girl is the sister of

Sys e ' T : o ) 30 the grandson of my mother.” How is
(A) Institutional b ) AGS this girl related to Arvind ?
(B} lﬂd“"ﬁ“" _ 18. "Education and Nﬂﬁonal Develup- ‘&B) = = JF) Daughter

ment” is the title ofﬂaareporrof : ' (C) 49 " (B) Niece

(A) Indian Edu:aﬂqn Gommisﬁiﬂﬂ-' - "I1| S’ Rt (C) Sister

183%-8.': B T 1 1l 22. Peopla in the South have Dbsewad (D) Cousin '
8 A .1"](}( oy 5
- : 4 “th rece -
e Iu‘. ﬁuﬁaﬂa"- b ::::eavy ﬁ-c;\:.‘m usf&:;:v o::dby - 25 \Which of the following cannot be a
rAn on. T i ;
‘:1-'&:“”“ eya;menz , E number of the series ...... 64,125,216,
-~ the full mi i menowv ral y
cthefulimoon somehongenet esthe. 343,512, ... 7 oy
) . . s
(A 8 s
~ (B) 728
(C) 27

: :y) 999
. 26. A, B, C, D and E are five different
integers. When written in_the
: ascending order of values, the
difference between any two adjacent
~ integersis 4. 'D'is the greatest and
‘A'is the least. Bis greater than E but

2 AYB implies . less than C. The sum of the integers
1plies (A ", AMB is equal to E. What is the positive
cula’temevdlueof ) diffambeiweenma lowestand the
s ot
ni (0;\)43 o “\./
@8 G

or s jobéi

LY . ps—=y P 5'1
e (D) “131\ E-¢&:
(5) B e
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32, Teaching is best defined as ¢

ither Thursday, _
of Anil, a baby day hesald, “Today ise ay, (A) Transferring knowledge from
27. Atthe birthday party Nigand Saturday or Sunday." The next day he T
a arners,
boy, 40personscmset°$mm e said. *| lie on Wednesdays and T o
2oL » on which day of the week AB) Controlling learners in the
persons chose to both kiss him and Fridays. B | classroom for timely progress and
f o 4
"‘(., /67" shake hands with him. How many “'0“'-5""'““@" Bl B completion of the course.
| v o= h . |
Q‘\"’ persons tumed °“‘“w‘apw? : (C) Facilitating learning.
‘ ; - .*"' ) ), ) ] 4 .
o6 (A 35 e i . (D) Lecturing and explaining.
’ 33. 'Who said, “The destiny of India is

' , .L being shaped in her cla‘ssroorns ?

E(A) Raport of the Education
~ Commission, 1964-66

ted portal which
on plétﬁérrn for
jous 'ié.pur‘ses
e-admission
Services to

(7)

35. According to NEP-2020, which of the
following age groups corresponds to
the foundational stage ?

(A) 3-Byears
(B) 8-11years
(C) 11-14 years
(D) 14-18 years
36. Which of the following is not a function
of educational aims ?
(A) Providing direction to learning
~ activities.
(B) Providing adequate resources to
schools.
(C) Setting standards for evaluation
of learning outcomes.
' (D) Creating and sustaining leamers'
motivation.
37.. Which of the following is the highest
level of teaching ?
(A) Memory level
(B) Reflective level
'(d) Understanding leve!
(D) None of the above

38. Bloom's taxonomy of educational

ob,lecti\fea is:
(ﬂ) Amllechanofteadlm strategies.
fa) A classification of teaching skills.
" (C) Adclassification of leaming skils.
| (D) A collection of hierarchical
~ classification of educational
objectives. ‘
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from[estatahe|ght 45. A ||QU|d has attained its temperature
Gy 42, Abodyisreleased i 3 of its boilj
gefined s reialVEY the ground. The speed with b 1 oiling point under norma
y c:rsangem behaviou” o body reachesthegroundis : atmospheric pressure. When further
permanent it which the - heat is supplied to the liquid :
(A) Creativity ¥ "f & (A) Pmp‘”ﬂ““dr:% quare e (A) Its temperature increases
_ nal = - ;
(8) Psychology oy JP) Proportion il 5 (B) Its temperature decreases-
fHJ e - =
(C) Leaming < (C) Its temperature remains constant
(D) Attention and itundergoes phase transition
40. Whatis the €X (D) Itstarts solidifying mmednate!y
(A) Central

T il

46 A steady electric current passes
l;hrough along, straight conductor. The
N magnetlc [mes of force due to the

S parallel to the
pposite to the

:Whleh of the fo!luwing devices is
on thé prinesple of Famday's

)

(9)

48,

49,

The S| unit of magneticfield is -
(A) Gauss

(B) Siemens

KC) Tesla

(D) Weber

A particle of charge 1.5 Coulomb
moves from a point A to a point B. If
the work done on the particle is 30
Joule, the electric potential difference
between the pointsAand B is

5%
(A) 4.5Volt 2 ,}oﬁ
(B) 0.05 Vot 3;
(C) 20 Volt 1= <a- .
LB 45 Vot ;3;1 ‘s

50.

51.

The focal length of a concave mirror
is 12 cm. If an object is placed at a
distance of 8 cm from the mirror, the
image formed in the mirroris : |
(A) Virtual, inverted and diminished
(B) Virtual, erect and magnified &u
L) Real, erect and magnified & Y
(D) Real, inverted and diminished :\]

2
7

What is the wave number of radiation
whose wavelength is 2.5 1 ? Ay
(A) 2000 cm™ 7y "5‘;

- (B) 4000 cm™ _),‘\‘.\ Eg 12
(C) 1000cm™ ks
(D) 3000cm™ A



hexaﬂuende reacts with silica : 81. |f1 a prokaryotic cell, the site of _B) Pteridophytes
respiratory enzymesis :
(A) Nucleoid
(B) Cytoplasm

./{C) Mesosome
(b) Chromatophore \

Y 8 i 57- xenOﬂ
h to forma Xenon compound ‘X". The 0

oxidation stateuff}ﬁanon in x |s 0 -'7

(A) +2»

(C) Gymnosperms

52. The numb
orbrtal is:

(A) 0
B) 1

(D) Angiosperms

66. Which are known as ‘Amphibians of
Plant Kingdom' ?
; i (A) Algae
; e 3 ( : | .ﬁm p:ﬁ;geu:::;mre fr: T4 s “;) B tirvicn
C)- 181 % 1 - ' (B) Rex ic B i Ay Danielli andDavaGn"?"" .(_D) iR e
O 18 " R ; i WSS i 67. Stele is found in which one of the
3 : e followings ? |
(A) Microcystis
-« (B) Saccharomyces
(C) Porella _
. (D) Adiantum

B oy o, 68 Which state of India has the largest

:._— forestarea ?

® Uﬂﬂf :

©) Arunachal P

(D) Andhumdesh

bt S0 W 4‘-;.; 89. Which one is used in 'ene‘fgy-
LR S generating nuclear reactors ?

8 (A) Uranium—216 :

(8) Uranium—-218 :

(C) Uranium 235

(D) Uranium~258

( Turnover)
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try has put forward the
World One

70. Which count

concept of ‘One Sun One

Grid'?
(A) India
(B) USA
(C) England
(D) Germany
71. According to food habit, what kind of
teeth are present in human belngs ?
JA) Bunodont 11
(B) Secodont . . .l
(C) Selenodont &
(D) Lophodont o
72. Atwhich thoracic vertebrae in human
does thetracheabranch?
(A) Sixth
(B) Fourth
vl il
(o Fith
(D) Second
dgghe
73. Which of the follov
blood with minimumurea ? i
(A) Renal'aigryﬂ&f’m“ \ ‘
B) Renalvein

oy I

75. Identifythe odd onafm_m‘ﬂ'le following,
() Fimbriae ‘fsf*,(if, 3(
(B) Isthmus . M
(C) Infundlbulum ;};_*’_{} ; &
(D) LablAminera | (e b"’j&/;bg |
' 76. The majoraerosol pollutantinjetplane
emissioNis Ee LrERsist i3 R\
e
A Sulphurdi ¥ - *1\*3‘1\1%‘

78 Mucorand Aspergillus are examples

() Corpusluteu™
(D) Corpusalbican’®

(B) Carpon monoxide 1;? B

(D) Sustainable development of
wetlands ol A

of s Sxellpiy Mogealbily (!
(A) Producers
~ (B) Primary consumer
(C) Secondary consumer
(D) Decomposer

Contd.

79. Thenatural reservoirs of Phosphorayg

s

(A) Atmosphere
(B) Rocks

AC) Ocean

,'_ (D) Dead organisms

: ' 80: How much energy the producer trophic
level will have if the amount of energy
available at the third trophic level is

10472
(A) 10J

‘

83. The sum of three numbersis 98 1fthe
ratio of the first to secondis2:3ang
that of the second to the third is5:8,

then what is the second number ?

(D) 1

82. How many proper subsets of the set .
- {1.2,3,4, 5,6, 7} contain the numbers -

1and7?

(A) 32
EtB)- 31

B vy a0
o
IH-2/18

(201 af‘"%,,ﬁ

(A) 58
(B) 48
“3
30 \ 1
N2 s % |
=%
(D) 25 T
= 84. For positive integers x, y, z, if /5\;'
.,/\'1 x:(y+z)=1:33ndz:(x+'y)=5:?, (’_
& ‘ —
c *7@1} theny: (x+2z)is equalto:
R -
= 7 (A) 1:2
1 A

> "%( (B) 2:3
S ey 1:3
(D229

s e 308
s & EXK\S

_ 8‘5 1S ={(x, y) eR* y=x + 1}, then which
e
W ‘3 one of the following statements is

oy * g correct ? (‘ Y ):
=T i h ! d:‘-
A) Sis | |
z =~_( ) an equivalence relation G4, -:L)

”"J‘J (B) Sisareflexive, but not symmetric

and transitive relation
y _‘\Q\ '@1 : (C) Sis symmetric and transitive, but -
\:?;5&:.-\’-] : % not a reflexive relation '1} -
M L e
Z =2 JP) S is not a reflexive, not a /
—— e i
""h*:[ *_symmetric and not a transitive
f FR= 5*"} 5‘}: e
R SN 2 S
k b )-\_ 13) r}L_I/z«-t:‘_(Tun'ao\.rer)
XA —rF v B
Zt=p 1



nQtofinisha

86. OnthesetSA=["'1'1]’B 1% 1

] : ap 93. Thevaiueof(o 2) *'5[ *13“)
=[-10} con_sidal‘ﬂﬁwng T is : yode
_ relations: S A (ér,,;) 3 v,\";’q\
1= {(x-v)E**A"‘z “ Ry |2 R o
(C) log(2) e g
(Df) 2log(2) 7 2 O ”'f,_
e .
| ¥ i _r':' 94. If cos (7?] Gnthen what is the

3 98

e

» f 2
7 9_,'9
21

e 'of (3 co\é 80°)
(cosec 31”) 2.0

87. W the angles of elevation a5 the top of

a tower from two points Wing ax g
distance of 4 meters and 9 meters from
the foot are complementary. then what
isthe height of the tower 2

(A) 8 meters

(B) B meters

(C) 5.5meters
D) 5 me‘_ters

An eqmlaleral AABC isinscripedin a

‘circle. If D IS a point on the minor are
BC and th_e measure of the
Z€BD=40° thenwhatis the measure
of the ZBCD ?
(A) 20°

4B) 30°
(C) 45°

(D) 60°

How many revelutions per minute a
wheel of radius 14 cm of a car
WI” make to maintain a speed of
132 km/hour 2 - |

. DL ] 1 em
093" "?ﬁg“; ) 1250 0 e
" . e
g _.;..;(Q}"_ " (8) 1500 ‘“137937 o
.3“. : *(C) 2500 Sy
' = Kim = 22,
1 (D_) 3000 &
a‘IE!.’JA paralle'lograrn circumscribingig,i
circleisa: =%‘-’
gy (A) Trapezium
£ (RS Ry Rhombes ( [ss
i © () A'Ciﬁﬁle."_. t\vod:mensmnal " (C) Square * [3 o -
(D) Any plaﬂe is two dimensmna! (D) Rectangle < &;0 4
o % : :
\ I.,I-.IIII.III.II ! L 5_ r{_‘b‘
%) £
(15) _:}_'T__j'_:"'j___e:., 3 (Tumover) -
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